— — . =]
O Wi
':‘ XX u“.“.»b,wmim—mwuumwunm_ .uuuh““.‘t‘. ::
= -
= :
= g
- 2
£ =
g S
= = :
=
=9 g
5 S
E] g
= 2 ‘
B S
E

i \ Zimmer
Zimmer )
9.24 m? N ) 9.16 m?

—

Zimmer
14.20 m?

o

I

Zimmer

o
E
=3
=3
=3

E 2 L

g 12.01 m =

= =

[ s

R £

; 2

=

£

=

=

=1

=

=

o2

Balkon
10.42 m? Zimmer | [
12.35 m?

SNV

=
=
S
X%

AR,

o

AT

I—

TERILELLLY

fr——

= A 0 SR

B AR TS, T
S 3 RO RO PR RO
AN YA AN QAN Y

e S
¢

RN,

‘ 1 Balkon
Balkon ‘ Balkon ‘
12.75 m? 1 13.27 m? : 14.39 m?

1.0Obergeschoss



